ARGFERETEZ2RB/ENEAR
EREBEFENEZAR

AEEIRAT=

EEME - RPERNA OSSR RFEER > Rl A B E s 5 H A — 1
B R B H BB 5K o (7] IR R i s oK IS S B Bt W BN SR B E UL o T
EEAREEATSG EARR A AL > A B UL Lo A 65 8 RS SERURS & R A Y
Jin e REHROK SR B A9 F R MERR A R Hh #E [ 0 B B e i SE LY > KONy B — KA
AP F > By R R — o 3 R PR T SRS o AR IR I ) R A ) R A
wr

o R TEEZVAERT > AN - B BUHR ~ R R b U A BT AL E B A R
(T AR s ¥ R T R R T E

o TERPEE A LT IR S H W I it > M moR AR

o ALMURMEYE SRR B - FE IR T VAR A b KE IR ORI B B AL R
AN AR R 1 1) B 5 B 7 REME — P S T & B R A 10,0002 M

o R TEFFTIUEAD - @B A FKEERNM o BRE Ko T H &£ 7,500 BEE 8 A
& o DAPR U SR o #EUeuy (b RESE RS ISR SE B E A

o MRREEHEHIRE SR SE BB o B UM SE T IR = e (S R 0

o TR R AR I < TR AR R i 10 B B e B A R T A > A U L
e 5 Tl

- 139 -



ARGFERETEZ2RB/ENEAR
EREBEFENEZAR

ETERBUENREARAEREFENEZAR

R A Bk TS CE U A 2 SRR AR ) R AR R AR I~ s B A
FEBRE K s WA BUIR DL o A2 BREEE 1Y I 15 3K E I AR (KRB A B BH 52 > Sl {1 % o i R R 4
7 B AR w8 5 A8 Ay 2,320 oo (B AR I &5 72 P R 38 E 0 13 1 AL 80 ) fh st A B
426,900,000%5 7T © & 35 B IRF 51 5% 55 I 15 A T IR B AR DA T & -

o #7125,700,000% 7T (fl r 153 3K H 73 B 49 29.4%) A4 BT 5105 ARTE M ~ i
JRCHR ~ RIH B Al S 2 A BT T B 24 m) AR SRR o Rl A v B 9 R O
ES

o #174,800,000%5 T I AE ZFRFSNE T ZAAE RO ANE B S EELSA
FEEE AT CEPaERAEHER R ZIK%EIT*EEWE%{E%%{% A
FHAERZE - B A4 I FE45,000M8 47 (0 4 J& 144 E BE BN ZEEN
AF AT HR T 2 19 4F90,000M

o #)49,400,000%k JOiH FIAE A ZF R NAE+ AL BN AL AN E T B A EME LA
EEWE AR CGEPEIERAEMERN ) » AEIEMARCERR %
TR - B84 E 30,000 4 &AWL ERE > BHEER _EEFIL
AR ER T 2 1 4F.90,000MH 5 K

e %J1,500,000%5 T HVE N —FF LA T T AERMAER ~ R K At 5 pl a7 HAth AR
KEE (EPOERAEMER Y  NMEEEPABREREESR -F
FEONAFFAZE

o £7110,000,000% 7 (5 7 153 3K JE T AR A925.8%) > BI4ER950% » 5% FI AE AR Al o w14
BYEBAE » o R AR B B F LA 53 A8 P B 2y REHE K 4 (] B 4t
HBEEERE > AASIEREEPN S G SEREA 2 5m 8 H 10,0008 M8 o 40 5F ME4H
I BRI EGAER B > B8 BIS50% 85 &t LASRAT BB AN - T AR 52 JBI B vt B K
W B GRS

. 9/378500000‘{%77:(15@?1%?)(1@@%52’]184% R AE > Al —F T NFE R —EE I

R AR B BB A 8 S AR A O o LA R R T R BER A A R SR RORD R B K i T
B E A 7,500&@%’9%%% > %EB%E%E%%%E;@ ;

— 140 —



ARGFERETEZ2RB/ENEAR
EREBEFENEZAR

e #730,000,0008% 7T (fih fir 15 I 15 8 49 7.0%) 15 AR 18 76 A 42 3 09 7 Uk ) A it

o #125,000,000%5 7C (15 BT 15 3K JE I BH 405.9%) #% AR ) A £ 18] 7 )5 B AM: 4 a8 40 B 22
1) B B = ) nitﬂliia%&ﬁﬁfmﬁuﬁa% R LR 7T RS

e #115,000,00045 7 (15 Fr 15 2K EHIF RHA3.5%) M R EWCIE R &8 5 &

o #742,700,0003% 7T (15 Fr 15 2K JE {F AH £ 10.0%) 7% I AE AN 48 3] — fit 1 48

i B R 2 4 T Y BRI MR R AT > RIS AR [ R B 4915,000,0005 TG 14 T 75 3100H
FEEE R L N E 5N A e

) R T PG R A T 7 0 R AR R A 5 2. 3238 o (B AR B B A iy /s o 4 i o A
B0 5 AR SE I AR S I A5 OB IR 58.67,500,0009 T840 A% 40% ~ 35% M 25% 1) H AR A (1)
BT B oS F R AR IR 5 GRS A SN ER  KGDEER G S EER - A
RS B 1) T 15 35 TE T AR I R RDRRR RS b R o o B A B B B IR A I A% 4 T A5 K JE T R AT
JBOTA 7 s 58 P A TS e 2 sl R SR AT R 5 A AE K > MEZEAF S A B R 45

0 B AR s m A A A [ b B AR 2. 329 0T > ANE S H AR 0 il 15 40% -

35% S 25% 1) LAl - A% LA TR B 45 T B E B sl s> - )OLE 5 A F R AR R B R
(DR TH 8O & W ERE 5 K (i) I8 B 88 A 4 10 AE & wlitt o

— 141 —



